(5) = Z7U—PF KRB,

Eai—LE SEIRE  2EE 12— LERRILERE

iR - B, 2 BROHRKR

AR AFE 1 A~3 AWoHeFERR, FiRRIERTHLL 500 t 98T 500t, & LIRIEAET
HEER 200 t #H0D 700, 2 BRI EGEHE 1, 200t CRIAERISILL 20608 & 72> 72,

T, AR 4 FEERECIE, FERIIRTHEESEIE Lo 4,000 t . ELR DAL
AL C 3,300 t | 2 RORFHHMESEHE, 7,300 t CRAFHENREL & 7272,

iR - B - Al SROFEFRE

SFAERE1 H~3 Ao 3 BEEOEFHL. 1, 200t THIEFFEHA 20%5K (300 t J8) &
2o TS, BRITCIE, FHEIERAY 45%(500 t J8) . & ILEAHIFEL (£0t). A/
A% 200%H (200 t #8) Tho7-,

W, AN 4 RFEEEAEHE. BB 4% (200 t ) . LIRS 21% (400
80 . AR 50%3H (300 t ) &720 | Ak 3 IR T 7,400 t (100 t ). A
FEFEHAEED 101% & 7257~

Ea—LEFEEDHR (1 A~3 AH) Eai—LEHFREDHR (1 A~3 AH)
%ﬁjaa [ T I I ] |I | |I T
R Fif ol —
ELR ORO3EE RIEE
=11E
B)IE BRUEE BllA mRMERE
0.0 02 04 0.6 0.2 10 12 0.0 0.2 0.4 0.6 08 10 12
FEE(R e (T1)
(LB BIERBI%, FEE: F 1) (LB AERI% . FE T 0
5 %*DS%E TIAEE _ 8 TIBRER TIMEE
& & [48~6E[71E~98 [10A~128[1B~38] B ™ E 5 [4B~65|71B~9E [10A~128| 1B~38| B3t
. A4 18 44 0] A 4
5a . 5 31 38 A2[ A% 0
e = 20 13 11 06 20 HER 40 17 1.1 07 05 4
. 27 500 A1l A® of A2 _ a0 = o 5 y
19 03 05 04 03 15 SR 3 0 05 - 0 3
FIE 02 ‘Dﬁ’a 3‘;0 Df 5030 05‘; ) 5t 4 14 5| A1 A 0
- - ' : ' ' il 73 24 20 17] 12 73
38 3 b Lo S | T - FEIn A E DR
13 24 2.1 1.7 12 74 CHEEHT. AR5 B 5 A
(1) - FEURERN £ bk A, TR

AR 28540 B 5L - BRI - EILROERE Ty 2463 (3 IRLSAA~DfiE &)




